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:ase read:'ti)i,s information before the examination starts.

- Thns exammanon i 60 mmutes long.

e AH quesnons shou[d be aﬂemp!ed

s A row of dots

y cenotes a space for your answer.

» Where answers are not exact they should be given to three significant figures, :

s unless specmed othermse

. The T button on the calculalor should be used for calculatlons !nvo!vmg T

2_83_5é28 ® fr'm._c.fependent' Schools E):(amfnationé Board . e

N
s

DI

L :

l dlradis

¢ — L . X . .

 S.A 2835228

: {',Ef;,
(s |
1L 1) ertmg down all the ﬂgures shown on your calculator flnd the value of

A ' 6.34+391 N
J _2.6671.98

50735298000

' Answer: .....

B

‘ (ii) Write-’yeuf ane\x'er to part (i) correct to:?_' decimal placee. '

AnsWer: :
(ii)y Write your enewer to part (i) correct to 3 sighiﬁeaﬁtﬁ‘]g{uree.

"Answer: ...

(IV) (a) Rewrite the caleulatlcn in part () i I)_.e_ech of the numbers‘bo»rrévet to”

1 stgmf:cant ﬂgure

- Ahswer:

IO 1 RN | ¢ S

2. (a) Hamish llves 21 miles from school and the |ourney by car each mommg
takes 28 minutes. '+ - .- - ?

Calculate the average speed of Lhe «car in mxles per hqur

5—0—1\ 1&60
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- |10 kg £4.20

(b) A tram traveilmg from London averages 84 mlles per hour for the frrst
: f’ 1 hour and 20 mrnutes of its | joumey.. - :

(1) Calcutate the dlstance whu:h the tram tra\«els durmg that time..
DSxT'__ " e, .
LZBEx13 L oo Ty ><80 :

= mam ~uLaﬁu -

The tram tames 2 hours 30 mlnutes for the next 458 mlles

(u) What was the average speed of the tram for the whore ]ourney7
AL T ¢ s e e 38 ;

et S, - 9
TT  [howr 20003 # “Rauq - = S % G
bR CW I EYRITaE N :b“"‘f"‘ T 4
Answrer

. otatoes o
P o F

" 5kg'£2.70

45p each’

3 for the price of 2 £, 40 per ku

- At the gree'tgrocers Iask for

5 kg of potatoes : 3 grapefrmt and 5_06 g of _tQ[natoes. S o

(l) What is the total cost of these |tems'7 Pobmtoes 1 L2-70 .
- s . o 3 Ggmopatraes t ko QO

sz,m, To Maacu: TR (_i-eo%i-). .
: AR éLL_O.-._ TR
‘ Answer E L}-‘SQ ..... @
lthen decrde 5 buy some carrots. IR T :'f

v t pay for everythrng W|th a £1O note and receive 24 72 Change

(n) How muny kllograms of carrots do 1 buy?
. E10=EwTL = &S2E spex wwel

L—.\ 7_8-;1-1. [ye] "-t p S()e_\\:u»\ mrrobs

L 4Tp LrO- 2K .
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. Answer. ‘2 . kg. @) - S
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4. At noon on 1 January the recorded temperature in flve capltal cmes was

* Mascow T nm2150C
.London R -1
NewYork = . ' -19.4s¢”

. .CaeTown - *27. 6°C

.. Riade Janelro *33 8°C

(I) Whatwas the dlh‘erence in temoerature between London and

(a ) New York, . : ' Sy Fhg e 3 o i,
: ¢

Answer: A3 degrees (1)
(b) Cape Town? . Tt et . ; ) )
@ . - 5-8% w260 o

" Answer: .33 . ctegrees. {1

(n) Calculate t:he range of temperature for the data

MoStaws 3 Rwo\z’h»ur-o C
71' S% T3 3 c.

es . (2]

Answer

o " (iii) After a rise of 3.5 degrees in Moscow and a fall of 5 5 degrees in Cape i
’ Town, what was the difference between the temperatures in these two . . -
cities? - : S
L Mostcu “21- bcfZS" "‘“z
ra(»v_m”\ F21Fe% - SSUL-17-|

I Bt -rgt-,nv_zt

: »Answer L{—O d‘egrees:':_,(z.)f_

The mean temperature tn.C'ape T'own for the,ﬁrst fitze days, of Jahu'ary' was_ " | -
"32.6 °C. , e . : g

(tv) What was the temperature on 8 January |f the mean for the first six days e
- was 31.4 °C? ) B

“Pae 't‘ﬁ“\‘ﬂl_! 2L6xsS = 163 o . ) o '
cRreswdeqin 3ty x_G_ g3y - ‘ '

LARR-4~162 225 % -

n

' Answer: 25’%"0 )
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5. (2) A sequence of numbers follows The rule: 6 The line 3y 25— 6 crosses the X axis at pozntA and the yaxrs at pomt 8. :
‘ o double then add one - : . - (l) Fill in the table below ‘or the line Sy =oxo 6 ’ :
.The hrst term of the sequence is5

X 0o | 3
(i) Find the next three terms’ of the sequence.

5 x1~lo+ =AU ’ G T E ) . - ] S ¥ ‘-2 2 07 =ED h)A"l)
lyrs 2241 =23 R T T ‘ . . * S
VrLsyens BT 8w o BT (i)-On the 1 ceptirneti’e square grid below,

e Y = 3% Caeg oo : : .
_ Answer: ... \..., ‘(2) (@) plotand labei pomtsAandB _ . (T{Q")_-

e T - e I N i o l I ) draw thehneay 2x— 8 - S - (1)@1)-"
(ii) Wha!is the first term of the sequence which is not a prime number? . : _ 5 E )
TS, 2T S

2% LP'&,-‘&L=QL&+\ =."\S ) B - o : . : 2 . — 2 ) . B

. . . ,
Answer X = Bae g% \'k"" - (1) 1

: - - : . : " : ) 4 3 2 1 ol -
(8) (i) Deacribe the rule for the sequence: o : I ' L y 5 I %
' ' Tl W, e e = e : o , _ ; =

T, - i A . 9
AnsweE,. rvw\“\p by.3 w‘ S\'BWM 1 ....................... o ._. - T AN i

NN
e
0
s Y

(u) What s the value of the 7th term of the sequerceﬁ o T . . - ' -5
: €% beamn Luxz 13- =122 . s g N s L A S
== : : e - i)
T 122%3 = 366 ~1 2 36T . A ) X
- ) . ANSWES: ....oorreenie DE S (1)

N I (iii) Calculate the distéji)ce frbrp Ato B. . 3 0\;'1\’.‘“5‘('-‘1: -
: : . ' I o petsalaal . -
S {e) In anothersequence the terms aret . ¢ : o ="y _ . B Alﬂ :i:i "\L;‘Li g laSegar
' R e A o SV Y XV M oA
Wnte down the 6tht rm of thls equenceg., . xa1 . ‘ D A : . CoAR=3esy T L T A L far e .
¢, 19(-1 ch-—:\ g€~ 'l \b:c. 5532 -3) .
v

_ S Sy s - ' ANSWer: ..o .cm. (3)
T \_q/%g/ _\-T'e/ . E = ' -

3

E N : . (a‘-_].h(}'zi—x_) 1 W) A 'perper{di-culjar to AB and of equal length.

- o ) (:y, for— 31 L -7 Wiite gown the po-dfdinate; of a possible position of point C.
Tobw fase L f LT s ' © Answer: (l D) (2)
P = T e - ‘ e ) .- . SA=283s28 . . -8
.A. 2835228 - ) - 5. TR Turry.o:ex:_ _ L . . )

ANSWer .. 2
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" Answer: a

. {'sA. 2835228

@\5‘«' vAg S\n_}‘ug -

' (2) cmeﬁw

(m—u- i

8. ABCDEis part of a r

e
LTI

gula polygon with rbtalloné_l symmetry of order 15 . ‘

Y

' ~Arlswerf X=

(m) Calculate lhe sum of the mterlor angles of lh:s regular polygon. N

i .' Ceregesue L0 T 1Bogaty)
Co 0 L TaCesle = 180 3wt (560 g0(is-2).
ng\o-\v Lte—;g‘ﬁ!= (56 TJ.S lSLl»O_

(|v) Calculale the srze of the angle Y.

Wo(s2) | L L
qu SR

u

: i :l“,,,__ ' l*?m(n-w.)

‘l

Ao egare. 1SCx3 - 468° i
i Sqo-wex= 720 @l{of_
S lgiaas Al o T Crnfort
R o

Answer: y =

AR ——~~——
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T ! i ' e b e ) ) 10. Westbury (W)rs 6 kllometres due west of Hometon (H) R TR
i 9 For two temperature scaies, Celstus and Fahrenheit, -~ o = B R cELET g T T }
.,’ - : " .0 . -0°Celsius = 32° Fahrenheit - - ¢ - ¢ N ;‘ (i) Using ot 5l of1 om 1km ptot the posltlon ofr{ L e R (2 . ?;
s and 100° Calsis = 212° Fanrenheit . . B : o T (thorte]
i - i ) . . : Lo =L S, 8 §om L . C‘.‘ng
1 T T TTTT TP -

I3 Y 5

5

B

L1

i - %9

" i |
:. o

g. y

i Fahrenheftlw

i - (°F)

}f e e . : Pitburn (P) is an a beanng of 155“ from Westbury and 225° from Hometon @ l{of‘ss"
\ e . G» o K . 5= B ; _ . G HHor15°)
£ ni - ] - B g (n ) Plot the pnsmon of Prtburn on your dlagram o e (2 i
R - . - ] . ; o S (m) From yourdlagram, frr_nd the drstance from Westbury to Pitbum.. e . @1)

. 49 . Answer: . km (1) S
fs g - - (Ac:zg\: easle S
Rz o s o : : ] ] AR S .+ (iv) Whatis the beafing of Hometon from Pitburi?. - o . @)

§ . . 0 20 40 EEN () §0-..  -loo o I _ £ ) o

i - ) : Celsius (°C) A l'f"r{i‘c“ wd P @ . :  ANSWED o GBS 1)

o t ﬁ‘qft Co S = o e @cug\: smo'cw-ﬂ’
. . +5(1) uomplete the scales or the axes ab@ve and draw the conversmn grap /20 ’ ST ) " P e . } Aocepe 42 qS"

' R convert degrees Celsius to degrees Fahrenheit. g Paula runs from Westbury to Hometon to Pitburn and back to Westt‘]_ury. |
. g » (i) j;f&)gyggﬁf?e?digiwer the follewmg quesnons showmg ctearlv where = S ' (v) If she runs at 15 kvh, how long does s b

:' . o ' ' A . Give your answer in hours and minutes, correct to the ngarest minute.

t [a) The temperature on my garden thermometer reads 80“ Fahrenheit. ] B C B ) Diste® = 1 §-8% 45 =16 3u~\ )

% ] What rs the temperature in degrees Celsius? '- 2, _' - b " ' : : T‘ = = :i s = 1+ 086 hasn »ci £0= 65 M) Y

B o S e - o ; o e S i G ‘ . )
T S : e Answer cassspnibidsssitons 8, B, s gs S , I = 1 r i . o, o
; o | i e PR o Tl (et
y - tb} The bailing peint of alcohol is 78.4° Celsius. =~ " - — e, i o L SR e N - Weort -O'EW)

i © Whatis the temperature in degrees Fahrenheit? =~ - ew O P P A e (B fereaar)
i A Telr . 7 ] DT 2 1 . e i R ACTRAT IS INGE
. » Answer @ RS S S R T Answer i BT ming (3)

otk e E L. & . o Gt frarkl T uied Conect .
S P B8 R gEE : rogne Pse . .. 5. 2835228 BRI |- T t;;f:&imf&mﬁm) Tomllog.
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11. On Rankini Byre's farm tﬁéﬁé Weré_é cows.and twice as many sheep. He alss. .

“had p pigs on the farm. Fra 5 o o 27, U w3
The total number of cows, sheep and pigs on the farm was 76

o 6} Fom an equation to show this information.

prp=2p
The total number of co(WS_. "sh%ép and p]i-gs has now increased by 4 o

-+ (i) Forim :_anoth.i_er"eqhétiop to show this iqfo'rm;at".'on'.i B

L Avdwer: L. ASHLPESQ. .

- -Rankin.has.on his farm. - -

T " {iii) Solve the equations ‘si’fnuftanebus!y'io_ find ihe'_nqr'niief of cowd which -

L Rexprr6.Cry) T Betrpmisy
_Q‘Q,\.lp:g’o . Sqﬁﬂ’ 2¢+2p =%0.
s T we= T2 -

B 'Ans'we'r:

('2511P:BQ
C2¥t8) +2p =80
36 %2p=T%0

Gg TapEhy

Lo e

A P PLﬁS 60%n=u‘-
W begy Paee oL 22
22422 =u4

- ATSWEE cisandais

CoSAzsmzag T e gy

I T By market dé);,'Rénkin‘sells half his sheep and buys p more pigs. ..

‘ (iv) How iﬁany', pigé"iq total does Raf\kin'ha\/’e a'fté.rgoingrtqﬁa'rket?' o )

{A‘.\f\:r’

Horededs

o 'Gw&beﬁdu&\w [ Fs -

Turn over Cz)] N

AL ETF P8 EEE R Pt AL UL L P b R TR P PP

-~ 12. The diagram shows a sector of a circe of angle 240°,
~The sector tas a radius of 2.5 centimetres; O'is its centre.

0} Cajcula'te the area .qf:the sector. § o

C= %_K 1T = 20K i‘g’.(rrk'l-?_uz"‘,'\' 05

Peimdes = LOT + LEHL-F S 1S5 .

- _A'nsw.ér:_‘i.‘r....'...:.-...:..; i @

.- > The sector is cit cut of a circle with centre-O.

' T'Tﬁé_"f:a_dius of the circlé_'is twice the radius of the séctor.

- U saczesspast . gy

NIRRT P It —s e re s o ——— e S



(if) Calculate the e .sha'dea section ' Lot l I ST LT s, (i By subsntutmg values forxmm the equauon e + 2x +1, comp!ete
g ) .. : . d i e ) SR the table of values fory : } o :
Arta ot Girdle =Trt, o I - : — —T— . P
=T3S ) A P e 1 a8l = S led 1] 2 .- . i
MRS €4 . s 5 x . S L
- | - N R I T AR
& ertq::-f— SLLD\{& Sec\\:m '-Ar(e- aircu—;_\{ I:rlt&orl-iath:r ot AT - T v Peh i '
R " Sy - cm2 : ((;‘ Lﬁ;, < (ii) On the graph paper below, drav: the graph of y = x* + 2x + 1 ’ (2):- :
The sector in part (i) is used to make plastic mouldings. ' " . s by ) T . o{-:j;jvf-
1C /a N
.. Vi =
. S B ;,
% i
' ) e ) . !
= 1 '
. . N . o . H - ; - | L
1 metre of moulding is produced every‘15 Secondsr 5 T S : o - : : - |
{iv) find the volume of plastic mouldmg produced in 1 mlnute correct to the s . - : o .
nearestmcm : A . K | N : : T = b
lmlmj\t'- €0 seca~dd » . T :
_ L 60Sctads NS = & MLLr‘j pelionl mamndade: |- o 3 , v :
" - V(o\ = Acte 0{"‘-’“"“: Frte ¥ leaglt OI’C SR ' . EEEEENE (N z
. ; - (3Vxtooxu| . - e ; ;
- -\ 5 oo . - 3 = = = ; m
= o &R PEPE L{-,. v =swyo- - . - bt 3 2: a 3 a
- , P =
' Jw.\)' B D -
Sy o :
ANSWEr: e QLD em (@) ' =
Totw Pese - o
Cs). .
sg® e ) : Tolak
-A. 2835228 - R, - = 3] Turn over S A2835228 o T 4 o y o .
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Qﬁ \ *f-.\r‘fn.t\'\. :r. \m\ue.
Allow 'r_~ol) -

,Tkuxh«”; R

SA. 2835228 T

“Tirn aver

| wxsh to find. Lwhen T=1:

Complete the table of values by using a method of trial and xmprovement and‘, '
give your answer for L to the neafe-». . By

cnumetre

14 When l =et lhe pendulum in my grandfather clock to a one-secord sw:nc Iuse_ '
the formula i i

50

o
BCES
el
g
' 1L»5

0051
0 0408
o-nz_o@
bj o .?.E'S'

"0-02¢5
0:025%"

0~ DLYS

0-0247

. 0.226 7

0202

Loy
So-169
0163
d-}Sﬂs

6-156."
o-(sa_b

./, 2835228

Answer: L= ...

(Total marks: 100)
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